CEEP-2016

MODEL PAPER

SECTION - | (MATHEMATICS)
1. Ifv144 =12 thenv 0.0144 = ..........
V144 = 12 wond vV 0.0144 = ..........

D 1.2 2) 0.12 3) 0.012 4) 0.102
log 2 log 3 log5 4 b c
2. If = = Then 2 3 5 =.....
b-c c—a a-b
log2 log3 log5
= = 6303332a3b50 G \
b-c c—a a-b
1)5 2)4 3)8 41
i 1 1
3. Ifa’ +b® +c’=0then (@a+b+c)P3=......

1 1

1 1 1
a’ +b> +¢3 =0 vowd (a+b+c)¥=..........
HOo 2) abc 3) 3abc 4) 27abc

4.  If logs* +logy* + log,;* + logyg* =4 then x = .........

logs* +logy* +logy* +10g:50* =4 wowd X = ...

1)3 2)9 3) 27 4)2

1 2
5. Ifx=3+3>+33then x3-9x2+18x-12=........

1 2
X=3+33+33 oowd x3-9x2+18x - 12=........
1) 27 2)9 3)1 4) 0

6. If n(A) represents the number of elements in A, the number of proper subsets of A are......

208 A S Sirose Qoggo (A Sr2Y, SN ADH Ko [EIrd dDsHe oz ...
1) 2nA) 2) 2n(A) — 1 3) 2 x n(A) 4) —

7. IfA={PO,L,Y.T.E,C,H,N,1} andB={E, X, A, M} then ANB = .......
A={PO,L Y, TE,C,H,N,1},B={E, X, A, M} woxd ANB=....
1 {r} 2) {E} 3) {x} 4 {v}
8. Ifn(AUB)=35n(A)=25n(B)=16thenn(ANB)=.........
n(A U B) = 35, n(A) = 25, n(B) = 16 wowd n(A N B) = ...........
1)6 2) 10 3) 12 4)8
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Which of the following is false?

8obarede® OIS DIE?

HDANB C AUB 2)AUB C BUA

3)ANB C A-B 4H9ANB C BNA

If x + 1 is a factor of ax3 + bx2 + cx + d then .........

ax3 + bx2 + X + d o3 2fwHs Gy, seroto X + 1 wond ...

la+b=c+d 2)a+b+c+d=0 3)a+b+c=d 4)a+c=b+d
If o, B , v are the Zeros of the polynomial x3 + 4x2 — 5x — 2then aff + By + Yo = ..........
X3+ 4x2 - 5X - 2 o3 25wde Ky dedeo o, B,y wand off + Py +yo = ...

14 2) -4 3)-5 4)5

An algebra text book has a total of 1382 pages. It is broken up into two parts. The second part of the
book has 64 pages more than the first part. How many pages are in each part of the book?

2.8 Dardd HYKos® 1382 Defen o e JIFR) Both grrreore B, 008 aros® Do Kogyg
088 g0t Hde Soayg o8 64 Hfen ORI IR TAY wond (HBerrostd Defen SHIM®.......

1) 650, 720 2) 652, 725 3) 659, 723 4) 663, 719

Two angles are complementary. The larger angle is 3° less than twice the measure of the smaller angle

the angles are........

Boch Eepen Dogrden. gm0 Dend DX)Eerd8 3o 508 3° S % wond o Swrer SHIT.LL ...
1) 59° 31° 2) 239° 121° 3) 120°, 60° 4) 119° 61°

If b2 — 4ac > 0, then the roots of ax2 + bx + ¢ =0 are ..........

b2 - 4ac > 0 wond ax? + bx + ¢ = 0 Bwg), SKoweren...........

1) Real and equal 2) Irrational and equal
TPQe0, DXSTPTeN g8e8aH éogpgen, JS8een

3) Imaginary and not equal 4) Real and not equal
SN e9035°aPen PN, XTI

The ratio of the roots of the equation x2 — px +q = 0 is 1 : K. Then the value of (
K

X2 - px + q = 0 o3 38mo srore KB 1: K wond

(1+K)?2
2

q p p q
1) — 2) — 3) — 4) —

p q q p
V2016 +/2016 + /2016 + ... —

1+ 8064 1 +v8065 1 +v8066 1 +v8067
D= DT N Y

1) -12 2) 39 3) —69 4) 96
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If mth term of an A.P is n and n'h term is m, then (m + n)™ term is.............

a8 @o5EE (AP) * m& o n& Heso m eond (m + n)S HSo...........

10 2)m+n-p 3)m+n 4) (mmfn)
If the sum of n terms of an A.P. is 2n + 3n2, then the common difference is ......
¥ @oS[EAS® nHmre Ago 2n + 3n2 wowd STosto = ...
bS5 2) 6 3) 11 4) 8
303 = 2025 wowd n=....
1) 12 2) 11 3) 10 4)9

. Coantl ot 1
If the geometric mean between a and b is bl ,thenn=.....
a,bo &m&’m}ﬁgéﬁoo a’ -;i :E;l i , 9003 N = .......

1 1

Ho 2) > 3) - B} 4)1

If a, b, c are unequal-numbers such that a, b, c are in A.P. and b — a,c — b,aarein G.P.thena:b:c

a, b, cen edSreaen a,b,cen AP b—a,c—b,aen GPS® o8 a:b:c=.....
1)1:2:3 2)1:3:4 3)2:3:4 4H1:2:4

Three consecutive veritces of a paralleloglam are (7, 3), (-2, 4), (3, —5) the fourth vertex is ......
28 DSwoess S0 gy Soreedd %qgen 53 (7, 3), (=2, 4), (3, =5) esowd 45 %go ..........

D (=12, 6) 2) (12, -6) 3) (-12, -6) 4) (12, 6)
The distance between origin and (9, 40) is ..........

Soree Doehd, (9, 40)e Sogssesdo. ...

1 49 oS 2) 43 . 3) 42 . 4) 41 oS

If (1, 5) is mid point of the line joining (-5, 3), (7, k) then k = ......
(=5,3), (7, koS 59 B Sosghocwsd (1, 5) wond k= .......
1) -7 2)7 3)5 4) -1

The x — coordinate of the point which divides the line segment joining (X{, y1), (X9, y») in the ratio

m; : my internally is

(X1, Y (X9, ¥p) Hochdess 83 Ter POTPR) M| : My K)quegé‘s 90880 D R20T Doty X — AEPHEo

mpyp + myyj 5 mjXp — mpX
1’1'11 + m2 ) ml — 1’1'12

3 mjXp + myXy A mpyp — mpyy
) ml + m2 ) ml — m2
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The ratio in which (4, 5) divides the line joining points (2, 3), (7, 8) is .......

(2, 3), (7, 8) DochHrHeoss 0% e o) (4, 5) ol Doy JeRod S, ...

D2:3 2) -3:2 3)3:2 4) -2:3

If (a, 2), (=3, 4), (7, —1) are collinear thena = .......

(a,2), (=3, 4), (7, =De» $8DSmen wond a = .....

Do 2) 1 3)2 4) -1

If the centroid of the triangle formed by (a, b), (b, ¢), (c, a) is the origin then A+ +c3=....
(a, b), (b, ¢), (c, 2) o8 JE (Babazo Ty HHSTEo(Eo SaredoHs) wand aAd+b3+3=.....
Ho 2)a+b+c 3) abc 4) 3abc

Slope of the line joining the points (—a, a) and (0, a'+ av 3)is

(—a, a), (0, a + aV 3) HochHeos 50D JH5¥dp arew.....

Hv3 2)av3 3)2a 4)0

If the median of a triangle divides it into two triangles, then the ratio of their areas is.........

¥ (Babao Gy Sagigo (Baherd) Bow (Babaren L0, wowd &8 Jroge QG ...
D2:1 2 1:2 3)3:1 4H1:1

In a triangle ABC, if AE is median then ABZ + AC2 = ......

ABC &3 2.8 (Behao, AE o036 Sogigrieso wond ABZ+AC2Z= ...

1) 2(BD? - DC2) 2) 2(BD? + AD?)

3) 2(AE? + BE?) 4) %(BDZ + AD?)

The ratio of areas of the two similar triangles is 9 : 16, then the ratio of their corresponding sides is

Both HErd (Badere Jroge B 9 ;16 e9oNd 53 9EH ehewe DB
1)3:4 2)4:3 3) 81 : 256 4) 256 : 81
If the sides of a triangle ABC are 11, 60 and 61 what type of triangle it is .......

1) Right angled triangle

2) Equilateral triangle

3) Isosceles Triangle

4) Scalene triangle

ABC o3 (8gbe: gheren 11, 60, 61 ewand e (Bgbeo.........

1) eo2s’s (Beheo 2) e (Beheo

3) Qedobgerd= (@abeo 4) DH3Koerdo (Beheo

In a AABC, £C =90°. If P is the length of the perpendicular from C to AB and AB = ¢, BC = a, and
CA=bthenab=......

AABCs® £C =90°. C %09 AB &sre A28 oomo P AB=c, BC=a, CA=bwond ab = ........
1) bc 2) ca 3) pc 4) pa
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A C
P
X y
z
B D
Q

AB, CD, PQ are perpendicular to BD as in the figure. If AB = x, CD =y, PQ = z then
Se0e® AB, CD, PQen BD® eozren. AB=x,CD =y, PQ =z eon& ......

1 1 1 1
Dx=y+z 2)x+y=1z 3);+ V34 4) +7=;

C

1
y

<=

A B

In the figure, DE//AB. [f AD=8x+9,CD=x+3,BE=3x+4,CE=xthen x = .....
Seos® DE//AB.AD=8x+9,CD=x+3BE=3x+4,CE =X w008 X =.....

D1 2)2 3)3 4)4

If ABC is an Isosceles triangle right angled at C then ABZ = ........

ABC 38 2.8 00280 Seoberd (Babeo, C S¢ ooaoé'se@&)& SOR sob. eond ABZ=.....
1) 2AC2 2) BC2 3) AC2 4)3AC2

In Axyz, Zy = 90°, if the lengths of the medians drawn from x and z are'5 and V40, the length of the

hypotenuse is .......

Axyz Ly = 90° X, z 500 ADS Soggriere DEHen B3 5, VA0, eond 8o Bt NN
D 10 2) VI3 3) 2v40 4) 213

The angle between a tangent to a circle and the radius drawn at the point of contact is.........
a¥ B Baph, D) DochHsy weeoe A2 953“05203 Socss &0........

D 60° 2) 30° 3) 45° 4) 90°

If r is the radius of a-hemisphere then its volume is

rosd o @gﬁsﬂ?’ @gﬁ"go LONS P PSHBSTE0. . ... ...
2 1 4 5
1y — 3 2) — mu 3) — mu 4) = mu3
3 3 3 3
A cylinder and cone have bases of equal radii and are of equal heights. The ratio of their volumes is......

8 “(oago“ao, Fomd &8 g @55"0;2)&, KK EOA eI ow. e90NB 3 JHBETeTO K)cﬁo)ﬁ .....

D1:2 2) 2:1 3) 3:1 4 1:3
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Metallic spheres of radius 6 cm, 8 cm and 10 cm respectively are melted to form a single solid sphere.

The radius of the resulting sphere is ...... (in cm)

6 20.., 8 20.&., 10 2o.&. a"?@“o;éb& gOA e(‘é& Sameh Y Rereldy ¥8A0D a.¥ A¥ore &asedh
B, wond o Y a°§b°go ....... (20. &. o)

D 12 2) 15 3) 18 4) 24

sec 0 (1 — sin B)(sec 6 + tan 0) = ......

HoO 2)1 3)2 4) -1
1 —tanZ A
A1 = ...
1) tan A 2) tan? A 3) cotA 4) cot? A
1
\/ —cos20-sin20 =.....
cos2 0
1) sin 6 2) cos 6 3)tan 6 4) cot O

sin® 10° + cos® 10° + 3sin?2 10%c0s2 10° = ........
D1 22 3 - 4 2
2 3

sin(90° = 0) cos 0 + cos(90° - 0) sin O = .....

1)1 2)0 3)2 4) -1

tan 1°tan 2°tan 3° ...... tan 89° = ......

12 2) -1 3) 0 41

cos 130° = ...

1) cos 50° 2) cos 230° 3) cos 140° 4) —sin 40°

Two poles of equal heights are standing opposite to each other on either side of the road, whcih is 120
mts wide. From a point poles are 60° and 30° respectively. The heights of the poles is....... (In meters)

a8 e Ko Both Jogren SN athFder AHTDBHP sanon. ) Bodr 120 d. Igend® eomon. &8
gy 6 o DothH H0d ©d 60° 30° Seren TR0E, v Jorrw Ak, (Sv.od®)

D 30 2) 30V/3 3) 60 4) 203

A person sai walking 30 mts towards a tower in a horizontal line through its base observes that its angle
of elevation changes from 30° to 60°. Then the height of the tower is..... (In meters)

Fow o3 af K w36 FH 30 ». Srdo Shidsowr $hr wodmr wsgEeo 30° Kod 60°%0H
$808. ond & X8 AK,.....

15 — 15V3 —
R 2) 15V3 3) 4) 30v3
V3 2
The probability of getting a head when a coin is tossed once is ......
28 TBIND 2800 arﬁcﬁ;ﬁ‘bé@géy ﬁéaééé éoayégé
1 1
Do 2) — 3) — 4) 1
2 3
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A bag contains a red ball, a blue ball and an yellow ball. All the balls being of the same size. Sowmya
takes out a ball from the bag without looking into it. The probability that she takes yellow ball is ......

28 D0DST 2.8 QDY) 208, ¥ oo 2008, 2l Ho 208 &INOW. Y 200eHen 2.8 HBSTmo KO IO,

J006%8 wresHore Ly af 208 B © wod HHH Bord 208 wITIE Sogrdd ...

1 1 1
D1 2)? 3)? 4)2

AM of x, 15x, 2x is .......
X, 15X, 2xo e08Ke3¢8 disem. . ...

1) x 2) 15x 3) 3x 4) 6x
. X X X X . . !
Median of 5 X, 13 ) is 8 if x > 0, then the value of x is.....
X X X X
5 X, T3 2 o Sggiso 8. X > 0 9008 X Dend... .
1) 24 2) 18 3) 27 4) 51

Fromadata 1,0, 2, 3,5,5,6, 8,10
1,0,2,3,5,5,6, 8, 10 depodo &o.....

1) AM = Mode = Median difen = axToFEo = Hgigo
2)AM = Mode Sen = wdgEo
3) Mode = Median erpoFso = Suessrigo
4HAM = 5 Sen = 5
1T+3+5+ ... + 2n-1)
2+4+6+ ... +2n T
D1 2)1121 3)“11 4) 2n(n + 1)

If f(x) is divided by x — a, the remainder is .....
f(x)% x —a & A $F) Fho......
1) f(a) 2) f(-a) 3) f(x + a) 4) f(x - a)

®27) _
o T

1 2)2 3)3 4)4

SECTION - 11 (PHYSICS)

0°C 5§ ) 540 [mdwe S0 80 °C 5§ &) 540 [rsvo HE0 5058 D $08 S o
1) 40°C 2)79.9 °C 3) 80 °C 4)0°C

8oamBs® wsny DI Ho efor

1) oon 2) =S 3) % 4) o0&

(BDF S0 Bodeyd S0 e, ...

D) 3% 2) bHS08 3) Srpsod 4 3580
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15 2o0.&. TS0 &) HEPSY Swo Lo 10 Ro. . Sr8o® ¥ $NHB GodB wSgS0
Oes?

1) 2 2) 1 3) 3 4) 1.5
D08 SSye0 BY; @eﬁgoédo

D %) 21 3) oo 4) 3580
H0grs8 (B0 AP (B8N0 ©Feso-

D dersd, 956 2) ;EdH, 1EH

3) 8o, Do 4) eroen, 28

SoB(EEe rgIrTend) el BgHogrsd SoE SEFSS Heto 1.5 wond o Tpsto Jodr
1) 3R 2) 2R 3) 4R 4HR
—4D, +2D eshorpgens) Both Seososs Kockhuigo B DS Eay FSPo dok?

1) 6D 2) -6D 3) 2D 4) -8D
508 e 1How (HasreoBedd T EBorggso.. ...

1) Sipsod 2) BrHS0s 3) SeesH 4) 35Bo
O DS ) B a0l DESTI8 sGesor

1) &850 2) Jormody Soedgso

3) QB Hes0 4) d38%0

ez, g (S8 Dozt 3)60363 Berg0?

D acdoersd 2) agderss

3) Jdoese Hosrsed 4) SHogrsel — Hewses
H3s® @od O e ... e HB08.

1) Sobsse Seso 2) QZ0bEden serso
3) Hersd S0 4) Kozrses S0

Sleo gy JobiEeso.....

D 241° 2) 48° 3) 24.4° 4) 60°
SGgo o wEhs dSeo Bod Bord. ..

1) deo 2) $%05H 3) e 4) ~eBoe:
60° 53%35 80 x%(‘écl é%go Koo, 26@8.5?.6;6 Hesso \/E e900d §.%oé DZ0S o écg H¢58 oo does?
D 70° 2) 0° 3) 45° 4) 60°
DiimSodt [HofreBod $588 ¥DB0T Mol wtor

D) o8 Hemsso 2) Haseo 3) Foand 4) SordodhHo
0508 PS50 SHHB zﬁP?soeaZgDciJ go&l E&¥ rgfgodsor

1) 2.27 20.8. 2) 25 2o0.%%. 3) 2.5 2o.. 4) 1 2o0.%.
Q H0gHe o $¢ Tod HXS weghTor

D 0° 2) 45° 3) 90° 4) 180°
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90 Q d&s%0 &) HKS 3 Doerrren B dSrosSore K623 HOS Soch I8Eo dods?

1 90 Q 2) 30 Q 3) 270 Q 4) 10 Q
400 w B3R TeBL Serd 2 KHowen &S IJoH dod X)(ﬁagfﬁlﬁ DAT0 e9Heod?
1) 8 kwh 2) 24 kwh 3) 12 kwh 4) 4 kwh

DesxS ﬁﬁéag?go 9083......
\Y 1 1

HP=— D P=— P= — P=VI
) | ) \% 3) VI 4) v

805 2058 O ACHLIrR) FPEQod?

1) 4§ degesco 2) (8% degesto

3) wdTo D0 4). (5352305 desgesco

&S /ool ... © J&wso

D =& 2) &G 3) woboHb 4) 5

Geg B ofwo ...

1) w88 8o, b (eSS Ao

2) wB¥ 2550, oy (BB o

3) vy 10, wey (BREES Fbo

4) o) 380, oY ($DISS Fdo

DHOre &8 wITLP0E $NH &P I1o?

1) DexSEdo Srd 2) wohd o8 o SrED
3) o 4) Dbz

DeSRE wcohiIY 08 (Herard) Swder HoNod?

) e 2) = 3) wahbPE 4) SrERS
058505 &5@rhod A.C. ¥3065 3)"?63@26?30 .......
1) 30 Hz 2) 50 Hz 3) 60 Hz 4) 120 Hz

AC, DC 5368e Koy Sooag geso?

1) AC 233ebs® &)C&)gddﬁ)ﬁ"&_oéo, DC 253¢5¢° THS ©9OHI0B0 0000,
2) DC 23808 0068 438 adnob.

3) AC 25365 000¥ 4ZE a00.

4) AC 25368¢® 2% dorden, DC z:53e8e® §5§w§8635 SOENOB.

BOron *He ecHIYoSF(Eo ©IH ... ™ &0enod.

D @0 PEHS evdstSrdardos®

2) esgE (D8 DS EEoarsos’®

3) QS (D8 oSt Erdargod®

4) Brishggo Sorgs DS SEHFEoc®

28 B8 wahIyo8 FERs vomore &f) DuxE Baio &F) Bip $93D weor
10 2)ilB 2) 2B 4) iB/2
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SECTION - 11l (CHEMISTRY)
8oBarBS® SFaHS HSoRwior
D &% Soliseeso
2) ¥e SeSo
3) 0oy Soglod SEHR) wey Sogle S [Serdd Foddo
4) d8xS DFkewo
80BBS® SPoHE ABerIE w0 T6?
D 2858 Q3keso 2) =08 (Herlo 3) 0 4) edo
4 (rdwo B8 wfrd JHFoSt FFromr $irdo Bodd Jedd CO, 8 HoSwe0?
D 568 2) 11.2 8. 3) 16.8 d. 4) 22.4 8.
2H,S + SOy ——> 3S + 2 HyO & 55 0D 8ob8S Kgob?

a) H,S 50080 Bodod b) SO, esdEsemo Bobod
¢) HyS gch5sed d) SO, wdses
1)a,c 2)a,d 3)a, b 4)c,d

&) Y o Qe &okerd8 3°§§é5e5'8 QoHDG TFOND) V&2

1) O, 2)N, 3) CO, 4) H,
oo BS® apleod Sy

)X +YZ
3) XYZ

XY+7Z 2)X+Y —— XY

YZX 4) XY + AB

XA +YB
8ob8S® Wiy wE B APIo?

1) Mg 2) Na 3)P 4) Al
S&HE 200 @ (I PR 0d DHIBODH Foor HrT) FehHH aod?

a

1) NH,CI 2) NaCl 3)KCl 4) HCI

obbdis ééé@gcﬁ: &Sl PESASE?

1) Soexdter 2) edH 3) e o 4) esSeewo
Al Ag, Cu &°5to Soglod 207 ([Ekor?

1) Cu<Al<Ag 2)Al<Ag<Cu 3)Al<Cu<Ag 4)Ag<Cu<Al
FQETe HEHS® FOHETmo Tobod TrSHen?

1) 588 &dHe 2) RS Yo

3) ¥3)56 &He 4) 3B )& &Hen

8oaT8S® B8 DS (oo oD THEH FXFoFo JosoBe

1) 308 2) @orrso 3) ®of§ 4) P80
Feedemore (Hrod (HBaH  FONS® Barsh?

1) 8o 2) o58)d0d £OM

3) £IH%E, O 4) & &0
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(38 Q&2

1) CH;CH,OH, CH;CH,CI 2) CH;CH,, CH,

3) CH;5CH,COOH,

CH;COOH 4) C,H,, C3H

oS SosesHd BHS SHCESREept é&ﬁ)&%ﬁéo—

D28 @& &b
3) (S

2) cHTBOsT
4) 3HBdS

CH; — CH — COOH &%), TUPAC 2x¢r

OH

D 2 - es@FSPomsso
3) 2 - &5 — (@S SLowmyo

o MNBeSER) ABS LD JPYH JeodD Rrber ordartdr

D 5-10%

2) 10 - 15% 3) 20 - 130%

8oHBS? DHoBresdasH 633&%{:60?

1) CaCl,

2) HCI 3) MgO

oS @i{f@g ©e0HS HoEdESe0?

1) sp

2) sp? 3) sp3

Aeacho EBE Ko Frdabo By DRaead Ddoag?

D1

2) 4 3) 6

MBS e9e0HS*D Dy, P @05re Hog?

D 1o, 111
a)2,8,2b)2,8,1
1) Mg, Na, Ca, He
3) Ca, K, Fe, Hg

2) 1o, 211 3) 20, 111
c)2,8,7d)2,1 aegs &@2@“@326& Soeersren SSIM?
2) Mg, Na, CI, Li

@éﬁ§®§ eﬁéévé‘gayéo f%écl Soreerso?

) F

4% [($rHEH 35 H80HEH BodS Hureor

1) Al

51’2)_0&0530 ShwcrR Q@gﬁ g)aﬂgéo ......

1) [Ne]3s23p!

4)Mg, Ca, CI, B
2)K 3) Cs

2)S 3) Ge

2) [Ar]4s23d! 3) [Ar]4s23d3

2, 8,2 205 dgdo e Sweed ool MO GoRb?
&

1) 3"@6‘%

2) eerAcHo 3) S°§oiao

Na, Nat, Cl, Cl~ o6® $8Smea asc’?gﬁcso (002
1) Na> Na*t > Cl[ > Cl- 2) Nat > Na > C/->Cl

3) Na > Nat > C/-

>Cl 4) Nat > Na>Cl>Cl~-

2) 2= pEdHdtHSLanso
4) 2 - prlergtastonsio

4) 100%

4) LiF

4) sp3d

4) 8

4) 30, 211

4) Au

4) Si

4) 1522522p®

4) e RCHO
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118. TIA (57 Swrowren 6PD wB)E or

1) M0 2) MO, 3) MO 4) M0,
119. M pos® rogorr eod dowSe Soay?

D 8 2) 18 3) 32 4) 16
120. o FBES K08d Jeosd Sord HE?

D) et 2) deo 3) 5D 4) 5%

2079200

1-2; 2-4; 3-4; 4-2; 5-1; 6-2; 7-2; 8-1; 9-3; 10-4; 11-3; 12-3; 13-4; 14-4; 15-1; 16-2; 17-3; 18-1; 19-2; 20-4;
21-3; 22-1; 23-2; 24-4; 25-2; 26-3; 27-1; 28-2; 29-4; 30-1; 31-4; 32-3; 33-1; 34-1; 35-3; 36-3; 37-2; 38-1;
39-4; 40-4; 41-1; 42-3; 43-1; 44-2; 45-2; 46-3; 47-1; 48-1;49-4; 50-4; 51-2; 52-2; 53-2; 54-3; 55-4; 56-1;
57-3; 58-2; 59-1; 60-3; 61-4; 62-2; 63-1; 64-3; 65-3; 66-1; 67-4; 68-3; 69-1; 70-2; 71-1; 72-2; 73-3; 74-1;
75-3; 76-2; 77-3; 78-3; 79-4; 80-2; 81-4; 82-3; 83-2; 84-2; 85-1; 86-3; 87-2; 88-4; 89-3; 90-2; 91-2; 92-3;
93-1; 94-4; 95-2; 96-1; 97-3; 98-4; 99-2; 100-3; 101-2; 102-3; 103-1; 104-1; 105-2; 106-2; 107-1; 108-2;
109-2; 110-3; 111-2; 112-2; 113-3; 114-4; 115-2; 116-3; 117-3; 118-3; 119-2; 120-3.
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